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Tk & 200 g 108 86 | 7TAINE— = B 270 g 378 162
EONAZED = B 200 g 86 64 | DDDH = B 270 g 345 162
FhE = 150 g 70 — | HHERE = B 270 g 702 270
L AEL X K 160 g 86 64 | T—NAA T [ 9 ke 15, 120 8, 100
ANy &' IF 10 ke 1, 350 —
FEEEICA LA IR 10 ke 1, 296 864
i< & &= 15 ke 1, 944 864
X XY =M 10 ke 1, 404 972
L&A IS 10 ke 4, 320 1, 296
XwoY IR 5 ke 2, 160 1,728
Ach & A 5 ke 2, 160 1, 944
k= b AE K 4 ke 1, b12 —
B =i 150 g 108 97
v L x JbiEE 10 ke 2, 808 2,376
mENRE & IH 10 ke 3, 672 3, 564
A LT B 100 ¢ 145 86
LT £ B 100 g 54 41
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&4 = T I 1ke 1,944 1,728
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